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# id i# Sepal_Length # Sepal_Width # Petal Length # Petal_Width A Species
1 5.1 35 E 0.2 setosa
2 49 30 4 0.2 setosa
47 3.2 . 0.2 setosa
46 a1 = 0.2 setosa
5.0 36 E 0.2 setosa

54 3.9 3 0.4 setosa

46 34 - 0.3 setosa

5.0 34 = 0.2 setosa
2.9 E 0.2 setosa
a = 0.1 setosa

0.2 setosa
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https://wiki.smartbi.com.cn/download/attachments/51942321/SQl%E8%84%9A%E6%9C%AC%E8%8A%82%E7%82%B9%E8%AF%AD%E6%B3%95%E4%BD%BF%E7%94%A8%E8%AF%B4%E6%98%8E.pdf?version=1&modificationDate=1606381948000&api=v2
https://spark.apache.org/docs/latest/sql-ref-datetime-pattern.html
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